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1.0 KW 2.0 Ky 3.0 KN
=E=RE vl 43 (v TU—) 48 (Ao TU—) 48 (RAwTU—)
SRR [A] 35 50 15
=EER [A 28 45 67
EREh A [wl 1150 2000 3000
EEDERE [rpm] 1450 1900 2500
=8 FL2 [N-m] 8.9 10.1 11.5
EHAERORER [rpm] 3000 4000 5000
EH R E = [%4] >86.5 >>80.5 =03 2
B [me] 40 EUF 22 EUF 12 EUF
AR R [mil] 0.7 0.3 0.15
[ S 3 = 1P65.~F IP65.~F IP65.~F
g —— =E2e Rt GAR®™) A
1.5 K 3.0 Ky 4.5 KN
=E=R vl 12 (RoTFU—) 12 (RoFU—) 12 (Ro71y—)
SIEERE [A] 35 50 [Li
EEER [Al 28 45 67
EEH A [w] 1604 3000 4500
EHEOERE [rpm] 1700 2850 3760
= RIS [N-m] 9.0 101 11.5
E AR RO [rpm] 3900 5700 7000
EH e EE [%&] ~88.0 =0.0 =04 5
B [me] 40 EUF 22 ELF 12 El'F
A FTR LR [mH] 0.7 0.3 0.15
i, W - = 1P65.~F 1P65.~F 1P65.~F
T2 BMBRE - e
2.5 Kn 4 5 KN 1.5 KY
=E=E vl 240 (VAG) 240 (VAG) B0 (VAC) /650 (sim T U —)
SIEERE [A] 12 30 14
EETER [A] 6.5 12 36
EEmAn [W] 2600 4500 7500
EHEDERE [rpm] 4500 4500 1500
E# RIS [N-m] 5.9 10.6 47.7
THABRFEEE [rpm] - - 3000
E Hi SRR = [%a] = = =93
HHiEin [me2] = = 400ELF
A H 7R LR [m] - - B.5i2EE
k- EREH = IP55.~H 1PB5.~H 1P65.~F




